MODEL COAARL

INNER BURNER BOX




Thermador
PARTS LIST

for

THERMADOR®*
CHAR GLO®° OUTDOOR BARBECUES

Mndels:@
CGB48RU / CGLB48RSBU




Table of Contents

Model CGB36RU ............. e ——— — v T
LT T [ — - S— - Pge 1
TR BUINEE BOX . .ivvinrir smnss resimsnissmsssssemepmse asersisississisan s sssasissarmann - —— L
Inner Burner BoX ...eieansrisern R - —
Drawers & Trays ......c.-wucinmn F——— - ——— R
Hood, Rotisserle, & Shelf .......... S o1t emre s iR TR AR AL RIS SrRR SRR RS TS Page |0
Publicatlons, Hardware, & Fasteners S — - Page 12
Wiring Diagram ..o, e meemdi et Rk ke 1 b 8k £ i e R .Page 13

PANEL KITS: CI6FP, C4BFF, CABSBFP o.nuvmememssimssssismsssinmssarnion S Page 14
Panel Kie Blustradon . ...c..ccoonn.ee - S, Page 15

Models CGB43RU f CGB4ERSEBU......... T —— - -Page 1§
Cart Parts p— " U rane PREE 16
CRIET BUIRET BOX mvrimransrmmssmsnerinsriemessissmmsmamismrimsaissatmatmarissmisssesssmnisem - —.— Page 18
Inner Burner Bont ..o e N - —— TR L
Drawers & Trays w.mwmnmmmsmian S — TRy
Hood, Retisserle, & Shelf ... — . Papm 24
Publications, Hardware, & Fastenzry —— - PRge 26
CGB4BRSBL Wiring Diagram............ - - Fage ¥7
CGR4BRL Wiring Dlagram .o . J— Page 26

Accessories
PartNo  Descripdon Oty
CI45C Cover, Black, Yind CGB35 I
CABSC Cover, Black, Vinyl CGB4BRL I
CARSBSC Cover, Black, Vinyl CGB4BRRSBL |

Packout Components

PartNoe  Description Quy
D8-04-37Y  Use & Core Manual |
08-04-35|  Installation Instructians |

L.P. Converslon Components (N.G.to L.P)

Meds] No. Dexcription Fart Numnber iy,
CGB3I&RU #54 Drifice Hood, Grill Burner GO-54-081-05 3
#59 Orikce Hood, Infrared Barmer Dg-4-08i-02 I
#73 Drikce, Smoker Burner 08-D4-0646-04 |
Conversion Sticker 20-09-337 |
CGB4ORIEL) #54 Oriflce Hood, Grill Burner 08-0:4.082-05 3
#59 Oirifice Hood, Infrared Burmer 08.04-082.02 |
#73 Drifice, Smoker Burner 0B8-04-066-04 |
#56 Drifice, Side Burner 15-10-186 2
Convartion Seickar 20-05-337 I
CEB48RY #54 Orifice Hood, Grill Burnar 08-04-08205 4
#59 Orifice Hood, Infrared Bumer 08-04-08:-02 2
#72 Orilice, Smoleer Burner 08-D4-06 404 |
Conversion Sticker 20-05-337 I



HMODEL CGBISRU

PUBLICATIONS, HARDWARE, & FASTENERS

PART

NUMBER DESCRIPTION
DB-04-351 MANUAL, INSTALLATION
06-04-373 MANUAL, CARE AND USE
08-04.392.0| COMPRESSION NUT, 114* TUBING
08-04-392.01 COMPRESSION NUT, 5/16™ TUBING
00-04-392.03 COMFRESSION NUT, 318" TUBING
08-04.393.0 COMFRESSION SLEEVE, 14" TURING
08-04-39312 COMPRESSION SLEEVE, 515" TUBING
08-04-353-03 COMPRESSION SLEEVE, 3/8* TUBING
14-90.293 SCREW. 10.12 X 14 PHIL TRUSS HD 55
14-90-254 SCREW, 10-32 X 3/8 PHIL TRUSS HD 53
14.90-29% BOLT, 1420 X 172 58
14-90.258 SCREW, 10-24 X 2/8 PHIL TRS HD, 55
14-90-299 SCREW, §0-32 X 3/8 PHIL FAN HD 55
14-90-300 SCREW, §0-32 X 1/2 PHIL TRUSS HD %
14-92.107 WASHER, FLAT, 32", 55
14-92-110 SPACER, 6-32 X 25 OD X 875 LG 55
[4-93.184 NUIT, 232 HEX KEPS S5
}4.94-058 BUMFER, HOOD FRONT
14-44-069 PIN, .125 DIA X 75 LG, ROLL

LIS




MODELS CMFP CA9FF & CIRSEFP

PANEL KITS: C36FF, C48FP, C48SBFP

Detall Petall
Cart Rear Corner Slda & Rear Panel Corner

o Ao

15



MODEL CGBIARL

DRAWERS & TRAYS




MODEL CGB3¢RU

CART PARTS




MODELS CI6FP CA8FP & CABSBFP

PANEL KITS: C36FP, C48FF, C4BSBFP

ITEM PART NUMBER DESCRIPTION
l 08-04.096 HANDLE, SIDE SHELF
2 0B-04-097 ROD RELEASE, $IDE SHELF
g 08-04-028-01 SIDE SHELF ASSY, LEFT
4 08-04-028.02 SIDE SHELF ASSY, RIGHT
5 08-04-300 HINGE, SIDE CART
& 08-04-098 SPRING, EXTENSION
7 14-%0-291 BOLT, 1/4-200X2 HEX HD 55
8 08-D4-144.01 CHANNEL, SIDE SHELF LEFT
) 08-D4-144.02 CHAMNEL, SIDE SHELF RIGHT
10 14-90-295 BOLT, [4-20XU2 §S
G 14-90-293 SCREW, 10-32X 3/8 PH TRUSS HD
12% 14-93-186 NUT, 8-32 HEX KEPS
13 14-93. 187 SPRING CLIP
14 14-94.093 BALL 5TUD
15 08-04.275 PANEL. CART REAR (C36FF)
16 08-04-280.01 PANEL, SIDE LEFT {ALL MODELS)
17 08-04-280.02 PANEL, SIDE RIGHT (C36FP)
18 08-04-280.03 PAMEL, SIDE RIGHT (C43FP/CALSBHY
19 14-94.087 COTTER PIN
20 1452104 WASHER, FLAT 1/4 S5
21 14-%3- 181 NUT, V4-20 HEX NYLOCK
22 08-04-276 Panel, Cart Rear (C48FP/CABSBFF)

= = not llustrated

i4




MODEL CGBIRU

OUTER BURNER BOX




MODEL CGB3ISRU

HOOD and ROTISSERIE

(]



